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QUESTION 1

You are testing the retropay process and enter a retrospective bonus entry for a worker. The bonus is calculated based
on a percentage of the worker\\'s salary. When you review the results of the retropay process you identify the bonus has
not been included. 

Identify two reasons why this is happening. (Choose two.) 

A. Retropay has not been enabled on the bonus element. 

B. Bonus element changes are not included in the retroactive event group. 

C. Retropay has not been enabled on the salary element. 

D. Element entry changes are not included in the retroactive event group. 

Correct Answer: AB 

 

QUESTION 2

You are creating a custom balance that needs to include run results of all elements associated with the regular earnings
and supplemental earnings classifications. How should you define the balance feeds to meet this requirement? 

A. Create balance feeds for each element belonging to regular earnings and supplemental earnings classifications. 

B. This requirement cannot be met because a balance cannot be fed by elements from more than one element
classification. 

C. Create a balance feed for the regular earnings classification and a balance feed for the supplemental earnings
classification. 

D. Create balance feeds for each element belonging to regular earnings and supplemental earnings classifications but
ensure the number of feeds does not exceed 250. 

Correct Answer: C 

 

QUESTION 3

Whilst testing the payroll ran, five workers went into error status. The remaining 10,000 workers completed successfully.
You have reviewed and corrected the underlying issues for the five workers and now need to correct their payroll
results. 

What action should you take? 

A. Process Payroll 

B. Mark erred workers for retry and retry the payroll. 

C. Rollback the payroll run and reprocess 

D. Manually update the payroll run status for each worker from error to complete. 
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Correct Answer: B 

 

QUESTION 4

You have run payroll process and need to validate and audit the run results before moving on to processing the
payment. Which report helps you in diagnosing the results? 

A. Payroll Activity Report 

B. Balance Exception Report 

C. Payroll Data Validation Report 

D. Payroll Balance Report 

Correct Answer: A 

Reference: https://docs.oracle.com/en/cloud/saas/global-human-resources/r13-update17d/oapay/calculate-validate-and-
balance-payroll.html#OAPAY775957https://docs.oracle.com/en/cloud/saas/global-human-resources/r13-update17d/
oapay/calculate-validate-and-balance-payroll.html 

 

QUESTION 5

Which legislative data group (LDG) description is incorrect? 

A. An LDG can be associated to multiple cost allocation key flexfield structures 

B. An LDG marks a legislation in which payroll is processed 

C. An LDG is associated with a legislative code and currency 

D. An LDG can contain many legal entities that act as payroll statutory units 

Correct Answer: A 
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